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1 DO0ODOODOODOO-BETODOO

00000000000 00000 (00 :http://fsl.fmrib.ox.ac.uk/fslcourse/ 0 Data Files 0O
0000000000000 00D0O000D0O000D0O000DODO000OO000DO0O0ODOOn)

cd “/fsl_course_data/scripting

O000oo0O00oo0o00oo0O00ooOo0o0ooOoBETOOOOOOODOOOOOOO

1. 00000o0oOoooogooon
bet_vol UOODOOODOODOOD nano OO OO0OODOODOODOOOOOOODOODODOOOOO
ooooooooooo
nano bet_vol
ooo

e J00I0OID0OIDODODODODOLODLDOO

2. 000000000000 00O0DO0O0OC0ODO0O00O0OD0OOO0OO0ODO0OOOOO0OOODOBET
OvolJDOOODOODOODOOOOOODOvvel brainJOO0OOD0OOD0OO0DOODOODOODOODODO
gboooooogoog
bet vol vol_brain
OO00OO0OoOoOoOoooo#'/vin/sh0000000CCOOOOOOCOODOODOO

3. 000oo0oOooooag
gboooooooooogd
00 imli0Ovol0OOUO0ODOOOOO(DO0OMigzOOOODDOODO)
O000000o0oooooboooDoo
chmod a+x bet_vol
000000000000 ./bet_vol 0OODODODOOOODO(DOODOOODOODO (?7)000DO
0000o0oO0oo0oooooooooo”./’0o0000)

4. 00000OOOOO
gboobgboboobO0Ovel brainJ0O00OD0O0DOODOOO0DOOOOODOODOOODODODOO
000 (000000000000 Oslices00OONO)O

5. 00D0OO0DbOoboooooboon
gbooooooboobobobooooooooboboo
gbobooooboobooooboboboooboooooooo#bobOoo

2 EchoOODODODOO

1. 000obooobooogo
00000000 (0000000000000 D:lstimg0000000O000)00O000Oecho
gboobooboobooboobooboobuooboobOoob .apNii.gzOOOOOOOOO
gooon
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2. 0000000000
O000000bD0O000D0voel000X.nii.gzOOODOOOOXO0ODOOOOODODDOOODOOODO
ooooooooo

J.0ooooooo
0000000000000000000000 vol000X.nii.gzOOODOODOmIXODOOO 3DODO
00000000 4D0000000O000000O00OD0O0ODO(DO0DO0O0DDO0OOOOmy4Dvolume
o0oooooo)
gbo0000 fslmergeJOODOOO

4. 000000000
00000 my4Dvolume.igz0 500000000000000 fslhdO0O0OO0O00O0OOOOOO
O0: 0000 fslhdO000O0D0O0D0ODOODO dimd00000COCOCOCOCDOODOOO

3 0O00D0OOoOobooono

1. 000000000000000000000
(00D0D00O0)pet_vol 000U O0DODUOUOODODOODODOODDOOUODODOUOODO BETO
oooooooooog

OO0O0OO0D0OO ./bet_vol im2
O0000000im20000 BETOOOOOOO im2_ brain000000000O0O
2000 im20000000000000DO0O00DODOOODOOODODO
0000000000000 000000o0o000o0oooooooooooon
gb: 0000000000000 .0ii.gz0O0O0OOOO0OOOO
3. BETOOOOOD (OO)
00¢e00D00D0D0O0OD BETOOODODOOODOOO (O -f04-g0.1)
0000000000000 000000000000 shift00000DO00O00O0O0O0O0O0O0OO
00 shift 0000000000000 000OO0 1000%1 000000000000 ODOOOOOO
goooooooo
O0O00Os$20¢10000%30%2000000
shift0$e0 0000000000000 00ODOO BETOOOODOODOOODOOOOOO

4 0O0O0O0OoOooO0O

1. 000000000000
0000 10000000000 pixdiml, pixdim2, pixdm3 00000 (mm 0000000000
0)00000000000000000000000000
000: 0000000000000000 fslval0000000000000000
2. 000000000000
000000000 10000000000000
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1.0 x 2.0 x 1.0
gobooboooboooooo
b0 «000000000obo0ob0ob0obob0oboooooog
3. 0000000000Doo00oo00ooogoooooooooooooon

5 toouuoooooon

CobOooodObvet_volOOOOOOODOOODOOODOOOOOOOOOOOOCOOOOOOOODOOC
gobboooboooobooooobOooobOoOooboOoobooOoo

1. 0000D0Oooo
bet_vol DO O00O$#O 0000000000 test D000 OOODDOOODOOOOOODODODOOOO
googn
OO0 test 00000000 DODOOD (DO0DOODDOODOD)000OOexit 100000000
0000(00: 0D000-1000000000exit1000000DOOOO)

2. 0000000000000
000000000${1}.0ii.cz0000000000000 test 000 (help testO00OOODODO
0)00000000000000000000000000O00OO

J.0ooooooo
goobooboobobooboobboooboobooobogbboobDboobbobbooboo
gooooo

6 D0oOoooooo

1. 000000000000 (basename) J0ODOO0DODODOO
"baserun” 000 0000000000000 O00O0O0O0O00OOO0OO0OOOO00O0ODOOOOOOOO
000000000000 000000 (volo00l.nil.gz 00O vol0001) DO O (echo) DO DOOD
0000 basename 10O 0000000000O000O0O0O0O: basename vol0001.nii.gz .nii
.gz00O0O0O volooo1 OODOOOO

2. 0000000000
cooobodoobooooboooooooOoOobOoOoOoooOooooOooooOoOoOoOooOoOoOoOobboOooon
cooooooboooo
od
./baserun im2.nii.gz im3.nii.gz
oooooooooon
im2
im3
cooood

3. BETOO000000O0
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BETOOOOOOOODOOOOODOOOOODOUOOOOOUODOO
Uob0o0 boobO0o0_praindpogn
./baserun im2.nii.gz im3.nii.gz

OO0000O0OBETOOO 2000000000000000000O00O00O00OA0O

( goouooooooboon

1. 000000000000
pixdim1, pixdim2, pixdim3 0000000000000 0000000000 mm® 0000000
00000000ooooooooon

2. 0000000000
000 diml, dim2, dm3 0000000000000 mm3 0000000000

3. Field of View (0000)00000
0000 FOVO mmOO000000000000

8 Lightbox Viewer (DO OO 0OODO)

(0O0: Lightbox 000000 D0OO0O0OOOOOOOOUOOOD0OOOOODOODOUOOUODOODOOOOOOD
0000000000000 00000 Lightbox Viewer 00 000000000000 OOOOOOOO
00DoOoooooooooo)

1. 00000
whileOODOO OOOD 1000000000000 0D00DOO00O0ODOOOOOOOODOOOO
cooooooo
2.00000O00ooDpoopoDboo
000000000000im30000000000000NOOOOOO0OOOOOOOOOODOO
oooboooooooooboboooo
oooooooooooobooooboooooogooo
slicer imagename -z -num output_num.ppm
000num0 (000000)00000000OO0OO
3. 00000
0000000000 display00OO0O0O0O0oooooOon
4. 0000000000
OO0O00OO000o0OO000b00O000000 fslvalOOO0OO0OO0OOODOO
5. 00000000000DO00O0OD0O (DO)
pngappend 00000000000 lightboxOOOOO 100000000000000CDOO
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O DObhoooOoooobog

1. 0000000000000 00
stiml.txt 00000 event-related 0 000 0000000000000 0DOO0O0OOOOOOOO
gobooboogo:
Event No. Condition Code Onset Time Comment
oo ooobobobobobbobbbobbooodddddooooooo

2. 00000000000
grepU0000b10000O0OO0OOOOOOOOOOOO

3. Onset Time 0O OO OO
awk 00000000 1000000000 Onset TimeOOOOOODOOODOO
Joodooooooooobobobooooon

4. 000000
Onset Time 000000 200000000000000 fixed duration 000000000 300
000000000 valueOOOOOOOOO 1.0000 Onset, fixed duration, value O 30000
0O FEATOOOOOOOOOOOOO
gob: 00 fordooobooon
000 stim_bl.txt 00 0O0OOOOODOOOO

5. d0noooooa
O0p20000000000O00O00OOOODOOO

6. Onset time 00000 (00)
(00: 0000TROOOODOOODOOOOODOOOOODOOOODOOOOOOOOOD)
00 Onset time 00 0000000000000 DOODOODO (OO: stiml.txt O Onset Time OO
DDI:IDDDD)I:IbCDDDDDDDDDDDDDDDDDDDDDDDTRD 350000

10 O00O0ODOO00oOoOoooooDboo

O0000000000000 design.fsfO000O00O0O0OO IstlevelOO FEATOOOOOOOOODO
oooo

sedJ000000O0ODOOOO
/usr/local/fmrib/www/fslcourse/fsl_course_data/melodic/denoise
good

/Users/fsluser/fsl_course_data/scripting

goboobbooboobboooboobooo

FEATOOOOOOOODOODOOODODOOODOOOOOOOO0OO000000000000000000000040
gooboobobobooooooooooboboboboooboooooboDobobUoboboboboooo
OO0 FEATOOOODOOOOODOOOO FEATOOOOOOODOOOOOO
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feat design.fsf

11 0DhOobOood

0000000000000 000C00O000D000O000DODO”Maximum Intensity Projection” O O
gooogoog

0000000000000 00000000 200000000000000000 (zstat2/example
_func) 0000000000000 000000000000O000000 (hr_zstatl/highres) 00O
goobobobooboooog

0000000000 GlFo0oOO00ooO0o0bDOoOoOo0ooOoooooO

1. 0000000
gobooboooboooobooo
e zstat U [0
e 10100
e incremental rotation 0000 (J00D000O0ODOOOOODOOODOO)
e z1OO
e OODOO
2. 0000000000
e I0I0UIDUDODLULOLUDOOOUODUODUD wsageOOOOOODOODODO
e (000DUODD)IDUOLUODDOLUODODODOUODODODOODODO
e J0D0DOD zstat 00 dimension 0000000000000 OODOO
3. 0000 (rotation matrix) 00O
x-y0OOOOOODODOODODODOOOODOoOoOOooooooooo(,00) 000000 ooooooo
gobooboobobooboobooo
e J000OOOorigmO0O00O0OOOOODOO
e 20000000 (incremental rotation) 0000000000
— 000 1: bceOODODODODO (incremental angle) 0000000000000 OODOOO:
inc_rad=‘echo "scale=10; $inc_deg * 3.1417 /180" |bc® ;
— 000 2: be-10000 sin0 cosO0O0O0O0O0O00O: cosinc=‘echo "c($inc_rad)" | bc
-1‘; and sininc=‘echo "s($inc_rad)"|bc -1°¢;
e ]0I0IDODODODOODUOD origmh00000DO0ODODOOO
o 00D OODOODOx-yOOODOOODOODODOODOODDODODDOODO
4. 00O0O0Oooo
MIPOODODOODOOOOOOOOOOOODODODODODODOODOOOODOODOODOOOOOfslmaths
O-roiJ00D0000OO0DOOOODODODOODODOOOODOOOODODOOOODODO OOODODODOOO
O000000ooooopooooooooooooo MIPoOOODOoOOOoOoOoOOoOoO
5. 00000
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whileOODOOOODOO 36000000000 0OO0ODOOOOODODOODOOOOOODOOOO
ooooooog:
e fslmaths -Xnax 00 000000000000 O0OODO zstat0OOOOODOO MIPOOO
000 (oo 2b0o0)
eoverlay 0O OOOOOOOOO zstat O MIPOOOOOOOOOOOOOOODOOO
e slicer JODODO2DO0O0O ppm O OO0 ODOO
e convert UD OO UOppm OO0 gif 00O OOOOOO
e convert_ xfm 0000000000 OOODOODOODOOOOODOO
o flirt DD UO0Ozstat O ODOUOOUODOODOODOODODODOOO
e gifmerge 10U D000 0 gif 000U DOO0OOUDODOO gif0000OOOODO
6. 0000CO000O0OO0O
gboooooooboboboboooooooong



OO0 A 000000 10

OO0A O00000

(0D0: 0000000000000 (Ubuntu 12.04) 0000000000000 0OOODO0OOOOOODO
00000000000000000000000000000O00oOOoOoOO)

Al OO0OO0OOOODO-BETOOO

#!/bin/sh

# Apply bet to the image called "vol" in this directory

bet vol vol_brain

A2 EchoOOOOODOOO

A21 0O0O00O0DOOOOO
#!/bin/sh

echo *.nii.gz ../*.nii.gz

(00: 0000000000 niigzO0OOOODOO0O0OOOechoD0OO0O0O00D0../*nil.gz0000O0
oo)

A22 O00O00O0DOOOO
#!/bin/sh

echo vol000[24680] .nii.gz

A23 0O00O0OOOOO
#!/bin/sh

fslmerge -t my4Dvolume vol000[24680] .nii.gz

A3 0OO0ODOOOO0ODOOO

A3l 0J000000O00O0O0ODOoDUOUOUOOoDOoOoODOO
#!/bin/sh

bet $1 $1_brain
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A32 BETOOOODO (DO)
#!/bin/sh

filename=$1
shift
bet $filename ${filename}_brain $@

(0D0: 000000000 ./bet_vol im2 -f 0.4 -g 0.1000000000000O00O0 100000
0im2000 filename 000000000000 shift00000m20000000000-f04 -g0.1
0$1, $2, $3, $4000000000O$0 D000 0O0OODOODOOODOOOOODOODO)

A4 OO0ODOOOO
#!/bin/sh
sizex=‘fslval $1 pixdiml‘

sizey=‘fslval $1 pixdim2‘

sizez=‘fslval $1 pixdim3‘

echo $sizex \* $sizey \* $sizez

A5 0OOO0OO0ODOODOOOO

#!/bin/sh

if [ $# -1t 1 ] ; then
echo "Usage: $0 <filename> [options]" ;
exit 1 ;

fi

if [ ! -f ${1}.nii.gz ] ; then
echo "File ${1}.nii.gz is not a regular file"
exit 2 ;

fi

filename=$1
shift
bet $filename ${filename}_brain $@

(0D: 000 exit 10 exit 2000000exit 0000000 000000000 0000000O0OOODO
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Oexit0OOOOO$?000000000000O0000001000000000000000000O0O
00000000000000 1000000 2000000000000000000)

A6 DODOODOOODO

A6.1 0ODOUOO0OODOOOOOO (basename) 00D OOODOOO
#!/bin/sh

for F in * ; do
basename $f .nii.gz

done

A6.2 JO00O0OOOOOOO
#!/bin/sh

for F in $@ ; do
basename $f .nii.gz

done

(0D0: 00 20000000000+0¢$000$00000000000000%1 $2 .. $n 00000
ooooo)

A.6.3 BETOOOOOOODO
#!/bin/sh

for F in $@ ; do
B=‘basename $F .nii.gz°
echo "running BET on $B"
bet $B ${B}_brain

done

(00: 0000000000000 0000D0O00O00O0D000UDO0O00O000O0OOO0DOO0ODOOD
oobobooooobooooooooooOobooOoboOobobooOoobooOooooobOoOoOoobOoOooboOoOooobooOoOoo
0000000000000 00000000000OoD0DOOOoOoOoDoO)

#!/bin/sh

for F in *.nii.gz ; do
B=‘basename $F .nii.gz‘
echo "running BET on $B"

bet $B ${B}_brain
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done

A7 DO0ODOOOOOOOOO

A71 0O0O00O0DOOOOOOO
#!/bin/sh

sizex=‘fslval $1 pixdiml‘
sizey=‘fslval $1 pixdim2‘

sizez=‘fslval $1 pixdim3‘

voxvol=‘echo "$sizex * $sizey * $sizez" | bc -1°

echo "Voxel volume is $voxvol (in mm~3)"

(0D: pixdiml 0 10000000 x000000000000 pixdim20 yOOOOpixdim30 zO000O
0000000000000000000D0 3000000000000 0DDOOOOOooOO)

A72 O00O00O0DOOOO
#!/bin/sh

sizex=‘fslval $1 pixdimil®
sizey=‘fslval $1 pixdim2‘

sizez=‘fslval $1 pixdim3‘

voxvol=‘echo "$sizex * $sizey * $sizez" | bc -1°

echo "Voxel volume is $voxvol (in mm~3)"

nx=‘fslval $1 dimi®
ny=‘fslval $1 dim2°¢
nz=‘fslval $1 dim3°

imvol=‘echo "$nx * $ny * $nz * $voxvol" | bc -1°

echo "Image volume is $imvol (in mm~3)"

(00:000dml0000x000000000000000OdIm2,dm30000 yOOOOz00DO
0000000000000 000000000D0O000O0dim], dim2,dm3 0000000000000
000000000000 ($voexvol) DDODOODODODOODODODO)

A.7.3 Field of View (000D)00000
#!/bin/sh
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sizex=‘fslval $1 pixdiml‘
sizey=‘fslval $1 pixdim2‘

sizez=‘fslval $1 pixdim3‘

voxvol=‘echo "$sizex * $sizey * $sizez" | bc -1°

echo "Voxel volume is $voxvol (in mm~3)"

nx=‘fslval $1 dimi®
ny=‘fslval $1 dim2°¢
nz=‘fslval $1 dim3°

imvol=‘echo "$nx * $ny * $nz *

$voxvol" | bc -1°¢

echo "Image volume is $imvol (in mm~3)"

fovx=‘echo "$sizex * $nx" | bc
fovy=‘echo "$sizey * $ny" | bc

fovz=‘echo "$sizez * $nz" | bc

echo "FOV is $fovx by $fovy by

-1¢
-1¢
-1¢

$fovz (in mm)"

(00: 00000000 300000000000000D000D0D00x00000000x0O0O0DO0ODO
OO0 xxOOOOOOOOOUOUOOODODO0O0OOOO0O0O000 pixdml O diml O00000O0OOOOOOO

oooo)

A.8 Lightbox Viewer

(0D: 000000000000 0ODO00OLO0OD0OOOD0ODUOOOODUOODODOOODOO)

A8.1 O0O0OO0O
#!/bin/sh

if [ $# -1t 1 ] ; then

echo "Usage: $0 <filename> [options]"

exit 1 ;

fi

a=0
while [ $a -1t $1 1 ; do

=‘echo "$a + 1" | bc
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done

echo $a

(0D: 000000000000 0O0O0U0D0O0O0O0ODO0OD00000000ODOODOLDODOOODOD
OODOtest00$a00000000000CO0O00O0O%a0 10000000000 a00O0O0ODOOOOO
alO0000O0O0OO0OOODOODOOODOOOO)

A82 0O0O0O0OOOOODO
#!/bin/sh

if [ $# -1t 1 ] ; then
echo "Usage: $0 <filename> [options]" ;
exit 1 ;

fi

num=0
while [ $num -1t $1 ] ; do

num=‘echo "$num + 1" | bc®

slicer im3 -z -${num} output_${num}.ppm
done

echo "The number of slices are ${num}."

A83 0O0OOOO
A84 O0O00O0DOOOOO
slices=‘fslval $1 dim3°¢

A85 00DOUODODUODODOUOD (OO)
#!/bin/sh

if [ $# -1t 1 ] ; then
echo "Usage: $0 <filename> [options]" ;
exit 1 ;

fi

slices=‘fslval $1 dim3°¢

num=0

while [ $num -1t $slices ] ; do
num=‘echo "$num + 1" | bc*

output=$1_output_${num}.png
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slicer $1 -z -${num} $output
inputarg=‘echo "$inputarg + $output"‘

done

echo "The number of slices are ${num}."

pngappend ‘echo $inputarg | sed ’s/+//’¢ $1_lightbox.png

(00: 000 pngappend 00000000 pngappend inputl + input2 + input3 output D0 00O
00000000000 inputarg=‘echo "$inputarg + $output" ‘00 + imagel + image2 + image3
...000000000000 +0000000sed00 000000000 OOODO ‘echo $inputarg |
sed ’s/+//°‘000000)

A9 DODO0O0ODOODODOOODODO

A9l OOO0OOOODOOOOOODOO
A92 0O00O0OO0ODOOOODOD
grep bl stiml.txt

A93 0O00O0O0OOOOOD
bltimes=‘grep bl stiml.txt | awk ’{print $3}°°¢

A94 0O0O0OOOO
#!/bin/sh

filename=stiml.txt
bltimes=‘grep bl $filename | awk ’{print $3}’°
for t in $bltimes ; do

echo "$t 30.0 1.0" >> stiml_bl.txt

done

A95 0O00O0OO0OO0O0OO
#!/bin/sh

filename=stiml.txt

bltimes=‘grep bl $filename | awk ’{print $3}’°
for t in $bltimes ; do
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echo "$t 30.0 1.0" >> stiml_bl.txt

done

b2times=‘grep b2 $filename | awk ’{print $3}°°¢
for t in $b2times ; do
echo "$t 30.0 1.0" >> stiml_Db2.txt

done

A9.6 OnsettimeOODO0O (0DO)
e JO0OOOO

#!/bin/sh

filename=stiml.txt

tr=3.5

bltimes=‘grep bl $filename | awk ’{print $3}’°
for t in $bltimes ; do

tsec=‘echo $t \* $tr | bc*

echo "$tsec 30.0 1.0" >> stiml_bl.txt

done

b2times=‘grep b2 $filename | awk ’{print $3}’°¢
for t in $b2times ; do

tsec=‘echo $t \* $tr | bce

echo "$tsec 30.0 1.0" >> stiml_b2.txt

done
e JOOODOOODO

#!/bin/sh

filename=stiml.txt

tr=3.5

for cond in bl b2 ; do
times=‘grep ${cond} $filename | awk ’{print $3}’°¢
for t in $times ; do
tsec=‘echo $t \* $tr | bce
echo "$tsec 30.0 1.0" >> stiml_${cond}.txt

done



OO0 A 000000 18

done

Al0 O0O0OO0OOOOOOODOOOOO

sed ’s/\/usr\/local\/fmrib\/www\/fslcourse\/fsl_course_data\/melodic\/denoise
/\/Users\/fsluser\/fsl_course_data\/scripting/g’ design.fsf > design2.fsf

(0D: 0000000000000 0sed0000O0OOO0/O0C0O0OD0OOCOD@OIDOOOODOON)

sed ’s@/usr/local/fmrib/www/fslcourse/fsl_course_data/melodic/denoise/

Q@/Users/fsluser/fsl_course_data/scripting/g’ design.fsf > design2.fsf

All 0O0OOOO

(00: 0000000000000 00Ubuntu00 12040000 gifmerge 0000000000 O0ODO
gbobooboobobooobooboobobooboobbooboobbobobooboobbooboo
o0o0oooooooon)

#!/bin/sh

if [ $# -1t 5 ];then
echo nn
echo "Usage: spinning mip <zstat> <struct> <incremental angle> <zthresh> <output.gif>"
echo nn
echo "incremental angle should be in degrees and will be rounded to integer."
echo nn
echo nn
exit 1;
fi

zstat=‘basename $1 .nii.gz‘;

struct=‘basename $2 .nii.gz‘;

incdeg=‘echo "$3 / 1"|bc‘;

inc=‘echo "scale=10; $3 * 3.1417 /180" |bc‘ ;
zthresh=%$4;

output=$5;

#check all the files exist
if [ ! -e ${zstat}.nii.gz ];then
echo "$1 - Not a valid image"

exit 2
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fi

if [ ! -e ${struct}.nii.gz ];then
echo "$2 - Not a valid image"
exit 3

fi

# grab the dimensions of the two images
xz=‘${FSLDIR}/bin/fslval $zstat diml‘;
yz=‘${FSLDIR}/bin/fslval $zstat dim2°;
zz=‘${FSLDIR}/bin/fslval $zstat dim3‘;
xs=‘${FSLDIR}/bin/fslval $struct dimil‘;
ys=‘${FSLDIR}/bin/fslval $struct dim2°¢;
zs=‘${FSLDIR}/bin/fslval $struct dim3°¢;

# check all the dimensions match

if [ ! ${xz} -eq ${xs} -o ! ${yz} -eq ${ys} -o ! ${zz} -eq ${zs} ];then
echo "$1 and $2 have different image dimensions - fool"
exit 4;

fi

## create a matrix which translates image from centre to (0,0,0)
xpixdim=‘${FSLDIR}/bin/fslval $struct pixdiml‘;
ypixdim=‘${FSLDIR}/bin/fslval $struct pixdim2°‘;
zpixdim=‘${FSLDIR}/bin/fslval $struct pixdim3‘;

xfov=‘echo "$xz * $xpixdim"|bc‘;
yfov=‘echo "$yz * $ypixdim"|bc®;

zfov=‘echo "$zz * $zpixdim"|bc‘;

xtrans=‘echo "$xfov / 2"|bc‘;
ytrans=‘echo "$yfov / 2"|bc‘;

ztrans=‘echo "$zfov / 2"|bc¢;

echo "1 0 0 -$xtrans" > ${$}cent_to_origin.mat ;
echo "0 1 0 -$ytrans" >> ${$}cent_to_origin.mat ;

echo "0 0 1 -$ztrans" >> ${$}cent_to_origin.mat ;
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echo "0 0 0 1" >> ${$}cent_to_origin.mat ;

# invert this matrix to translate back to center

${FSLDIR}/bin/convert_xfm -omat ${$}origin_to_cent.mat -inverse ${$}cent_to_origin.mat;
##create a matrix to incrementally rotate around z-axis

cosinc=‘echo "c($inc)" | bc -1°¢;

sininc=‘echo "s($inc)"|bc -1°;

echo "$cosinc -$sininc 0 0" > ${$}incrot_orig.mat;
echo "$sininc $cosinc 0 0" >>${$}incrot_orig.mat;
echo "0 0 1 0">>${$}incrot_orig.mat;
echo "0 0 0 1">>${$}incrot_orig.mat;

#concatinate the three matrices to give you your overall incremental rotation
${FSLDIR}/bin/convert_xfm -omat ${$}tmp.mat -concat ${$}incrot_orig.mat ${$}cent_to_origin.mat;
${FSLDIR}/bin/convert_xfm -omat ${$}incrot_cent.mat -concat ${$}origin_to_cent.mat ${$}tmp.mat;

#find the mid-sagittal slice to render on and the max zstat
halfx=‘echo "$xz / 2"|bc
zmax=‘fslstats $zstat -R| awk ’{print $2}°°¢

#initialsie things b4 the rotation loop

totinc=0;

cp ${zstat}.nii.gz ${$}rot_zstat.nii.gz;

${FSLDIR}/bin/fslmaths ${struct} -roi $halfx 1 0 $yz 0 $zz 0 1 ${$}${struct}_mid_sag
cp ${$}${struct}_mid_sag.nii.gz ${$}rot_struct.nii.gz;

echo "1 0 0 0"> ${$}tot_rot.mat
echo "0 1 0 0">> ${$}tot_rot.mat
echo "0 0 1 0">> ${$}tot_rot.mat
echo "0 0 0 1">> ${$}tot_rot.mat

### Nearly there!!
while [ $totinc -1t 360 ];do
echo "$totinc of 360 completed"
#The mip
${FSLDIR}/bin/fslmaths ${$}rot_zstat -Xmax ${$}rot_zstat_mip;
#The background slice
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${FSLDIR}/bin/fslmaths ${$}rot_struct -Xmax ${$}rot_struct_mip;

#smooth it a bit to make it look nice

${FSLDIR}/bin/fslmaths ${$}rot_struct_mip -s 1.5 ${$}rot_struct_mip

#Do the rendering

${FSLDIR}/bin/overlay O 1 ${$}rot_struct_mip -a ${$}rot_zstat_mip $zthresh $zmax ${$}rend_mip;
#create a ppm

${FSLDIR}/bin/slicer ${$}rend_mip -x O ${$}rend${totinc}.ppm

#convert it to a gif

${FSLDIR}/bin/convert ${$}rend${totinc}.ppm ${$}rend${totinc}.gif

#create the next rotation matrix
#(note - we are always rotating the original images
# to avoid successive interpolations)

${FSLDIR}/bin/convert_xfm -omat ${$}tot_rot.mat -concat ${$}incrot_cent.mat ${$}tot_rot.mat;

#Do the next rotations
${FSLDIR}/bin/flirt -ref $zstat -in $zstat -applyxfm -init ${$}tot_rot.mat -o ${$}rot_zstat;
${FSLDIR}/bin/flirt -ref ${$}${struct}_mid_sag -in ${$}${struct}_mid_sag -applyxfm -init ${$}tot_r«

#remember how far we’ve rotated.

totinc=‘echo "$totinc + $incdeg" |bc‘;

done
#merge all the gifs we’ve made

gifmerge -10 -10 ${$}rend?.gif ${$}rend??.gif ${$}rend??7.gif > $output

#remove temporary files

rm ${$}*;
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